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1. Choose the correct option regarding

the following statements (i) and (ii).

(i) An increase in the income

beyond certain limit leads to

increase in consumption of

necessary goods.

(ii) As per the law of demand, price

and demand for commodity

change in the same direction.

(A) Both the statements are correct

(B) Statement (i) is correct and

statement (ii) is incorrect

(C) Both the statements are

incorrect

(D) Statement (i) is incorrect and

statement (ii) is correct

Economics
Paper II

II
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

(100) (2)

1. (i) (ii) 

(i)

(ii)

(A)

(B) (i) (ii)

(C)

(D) (i) (ii) 
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2. Consider that all inputs in a

production process are constant

except only one input. If the total

product in this case is at its

maximum, the corresponding

marginal product is :

(A) Maximum

(B) Zero

(C) Rising

(D) Falling

3. People who choose most risky

investments are :

(A) Risk averse

(B) Risk neutral

(C) Risk seekers

(D) Risk takers

2.

(A)

(B)

(C)

(D)

3.

(A)

(B)

(C)

(D)
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4. In a game, two or more decision

takers know that their decisions

are :

(A) Dependant

(B) Independant

(C) Strategically interdependent

(D) Mutually inclusive

5. Other things remaining constant, if

there is a successful advertisement

campaign for a commodity, the

demand curve for the same shall

............................. .

(A) Shift to the left

(B) Shift to the right

(C) Become positively stopping

(D) Become parallel to ‘Y’ axis

6. Economic rent is the payment to a

factor whose supply is :

(A) Completely inelastic

(B) Completely elastic

(C) Unitary elastic

(D) Less elastic

4.

(A)

(B)

(C)

(D)

5.

(A)

(B)

(C)

(D)

6.

(A)

(B)

(C)

(D)
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7. The general equilibrium model was

developed by :

(A) Kaldor-Hicks

(B) Alfred Marshall

(C) Adam Smith

(D) Leon Walras

8. Which one of the following is not a

static property of a general

equilibrium state ?

(A) efficient allocation of resources

among firms

(B) equilibrium of consumption

(C) efficient combination of products

(D) efficient distribution of profits

9. Any point along the Edgeworth

contract curve is :

(A) Pareto efficient point

(B) Pareto inefficient point

(C) Pareto suboptimal point

(D) Pareto’s welfare point

7.

(A)

(B)

(C)

(D)

8.

(A)

(B)

(C)

(D)

9.

(A)

(B)

(C)

(D)
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10. Third fundamental theorem of

welfare economics assumes that

there are no :

(A) Economies of scale

(B) Externalities

(C) Diseconomies of scale

(D) Economies of scope

11. The market allocation under adverse

selection is :

(A) Pareto inefficient

(B) Pareto efficient

(C) Pareto optimal

(D) Pareto efficient and optimal

12. In Pareto optimal or efficiency

equilibrium :

(A) Situation, it is impossible to

make anyone better off without

making someone worse-off

(B) Situation in which it is possible

to make someone better off

(C) Situation where supply equals

demand

(D) Situation where marginal rate

of substitution and marginal

rate of technical substitution

are equal

10.

(A)

(B)

(C)

(D)

11.

(A)

(B)

(C)

(D)

12.

(A)

(B)

(C)

(D)
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13. Which of the following is an example

of capital goods ?

(A) Food and clothes

(B) Tools and machinery

(C) Consumer durable goods

(D) Fertilizer

14. The difference between production

at market price and producers’ price

is due to :

(A) Depreciation

(B) Net factor income from abroad

(C) Indirect taxes and subsidies

(D) Net transfers between countries

15. Macro-economics is a study of

economics that deals with :

(A) Firms and households only

(B) Firms, households, government

and external sector

(C) Demand for a specific product

(D) Balance of payments

13.

(A)

(B)

(C)

(D)

14.

(A)

(B)

(C)

(D)

15.

(A)

(B)

(C)

(D)
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16. The length of a business cycle is

measured from :

(A) Peak to peak

(B) Trough to peak

(C) Peak to trough

(D) Trough to trough

17. Which of the following is not true

about the steady state growth path ?

(A) The capital stock grows faster

than GDP

(B) The ratio of capital stock to

income is constant

(C) Investment is a constant share

of GDP

(D) Consumption is a constant

share of GDP

18. The Demand-pull inflation exists

when :

(A) Costs are increasing faster than

output

(B) The level of aggregate demand

grows faster than the supply

(C) The prices of imports are rising

than the domestic goods

(D) There is an increase in the oil

prices

16.

(A)

(B)

(C)

(D)

17.

(A)

(B)

(C)

(D)

18.

(A)

(B)

(C)

(D)
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19. The change in investment due to a

change in income is known as :

(A) Consumption

(B) Multiplier

(C) IS curve

(D) Accelerator

20. A cut in income tax rate to

encourage the household

consumption is an example of :

(A) Expansionary demand side

policy

(B) Contractionary demand side

policy

(C) Expansionary supply side

policy

(D) Contractionary supply side

policy

19.

(A)

(B)

(C) IS 

(D)

20.

(A)

(B)

(C)

(D)



11 [P.T.O.

SEP - 11221/II—A

21. The short-run Phillips curve in case

of an increase in inflationary

expectations would result in :

(A) Shift to left

(B) Shift to right

(C) Vertical line

(D) Being unchanged

22. According to classical models, the

level of employment is primarily

determined by .............

(A) Interest rates

(B) Level of prices

(C) Level of aggregate supply

(D) Level of demand for goods and

services

23. For a random variable following the

Poisson distribution,

P (X = k) = 
1

,
ke

k

�� �
�  equals :

(A) Only mean of the distribution

(B) Only variance of the

distribution

(C) Both mean and the variance

(D) 1/k

21.

(A)

(B)

(C)

(D)

22.

(A)

(B)

(C)

(D)

23.

P (X = k) = 
1

,
ke

k

�� �
�

(A)

(B)

(C)

(D) 1/k
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24. For two random variables X & Y,

covariance measures :

(A) Direction of the relationship

between them

(B) Strength of relationship

between them

(C) Both (A) and (B)

(D) Variance of X and variance of Y

25. In a linear regression model

Y
i
 = � + �X

i
 + �

i
, unbiasedness

requires :

(A) Y be correctly measured

(B) Covariance between X and �

be zero

(C) X and Y be not correlated

(D) Error term to be normally

distributed

24. X Y 

(A)

(B)

(C) (A) (B) 

(D) X Y 

25. Y
i
 = � + �X

i
 + �

i 

(A) Y 

(B) X �

(C) X Y 

(D) �
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26. For a linear regression model

Y
i
 = � + �X

i
 +�

i
, Durbin-Watson

statistic is used to test for :

(A) Serial autocorrelation among

residuals

(B) Mistakes in calculations

(C) Correct functional form

(D) Heteroscedasticity in residuals

27. Suppose X is a normally distributed

random variable with an unknown

mean �  and an unknown variance
2� . The following test can be used

to test a hypothesis about

unknown population mean :

(A) The F-test

(B) t-test

(C) Chi-square test

(D) z-test

28. Which of the following is Hyperbolic

function ?

(A) Y = log
b

x

(B) Y = b
x

(C) Y
a

x
	

(D) Y = a + bx + cx
2

26. Y
i
 = � + �X

i
 +�

i 

(A)

(B)

(C)

(D)

27. X 

�

2�

(A) F-

(B) t

(C) Chi-Square 

(D) z

28.

(Hyperbolic) 

(A) Y = log
b

x

(B) Y = b
x

(C) Y
a

x
	

(D) Y = a + bx + cx
2
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29. In the linear function D = Z – P,

dependent variable vanishes when

value of independent variable is :

(A) 6

(B) 7

(C) 3

(D) 2

30. Find the point of maxima on the

curve :

Y = x
3 – 6x

2 + 9x – 2

(A) 3

(B) 5

(C) 1

(D) 0

31. If demand function is 150 – 50P and

supply function is 25 + 25P, then

what would be the equilibrium

price ?

(A) 3.5

(B) 1.7

(C) 4.7

(D) 2.5

29. D = Z – P, 

(A) 6

(B) 7

(C) 3

(D) 2

30.

Y = x
3 – 6x

2 + 9x – 2

(A) 3

(B) 5

(C) 1

(D) 0

31. 150 – 50P 

25 + 25P 

(A) 3.5

(B) 1.7

(C) 4.7

(D) 2.5
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32. A = 
3 4

2 3


 �
� 
� �� �

, A2 

(A)
0 0

0 0


 �
� 

� �

(B)
1 0

0 1


 �
� 

� �

(C)
1 1

0 0


 �
� 

� �

(D)
0 0

1 0


 �
� 

� �

33.

(A)

(B)

(C)

(D)

32. If A = 
3 4

2 3


 �
� 
� �� �

, find A2.

(A)
0 0

0 0


 �
� 

� �

(B)
1 0

0 1


 �
� 

� �

(C)
1 1

0 0


 �
� 

� �

(D)
0 0

1 0


 �
� 

� �

33. As per the principle of comparative

advantage a country shall benefit in

foreign trade if ....................

(A) It has better technology

(B) It has better management and

techniques

(C) It specializes in goods which

could be produced at

comparatively lower costs

(D) It dumps goods in other

countries
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34.

(A)

(B)

(C)

(D)

35.

(A)

(B)

(C)

(D)

36.

(A)

(B)

(C)

(D)

34. Which of the following items in a

country’s balance of payments is

classified as invisible ?

(A) Goods exported

(B) Foreign travel

(C) Govt. expenditure abroad

(D) Foreign investment

35. When the flexible exchange rate

prevails, the exchange rate of a

currency is determined by :

(A) Central bank of a country

(B) Price of gold

(C) The purchasing power of

currencies

(D) The demand and supply forces

in the foreign exchange market

36. Which of the following statements

about devaluation is correct ?

(A) It leads to higher prices in the

country

(B) It leads to higher imports in the

country

(C) It has only temporary effects

provided other countries do not

retaliate

(D) It leads to unfavourable terms

of trade
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37.

(A)

(B)

(C)

(D)

38.

(A)

(B)

(C)

(D)

37. What is common about the following

countries ?

Cyprus, Virgin Islands, Coxman

Islands, Bahomas and Mauritius.

(A) They are best tourist

destinations

(B) They are known to be Tax

Havens

(C) They are former British colonies

(D) They are highest sugar

producing countries

38. Duty Drawback Scheme in the

context of foreign trade policy of

India was aimed at :

(A) Raising the tax revenue

(B) Simplifying the tax

administration

(C) Reaching out to more countries

for exports

(D) Enhancing the competitiveness

of export goods
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39. The principal function of foreign

exchange market is ...................

(A) The transfer of purchasing

power from one nation and

currency to another

(B) The transfer of selling power

from one nation and currency

to another

(C) Transfer of foreign currency

loans from one country to

another

(D) Transfer of trade payments

from one country to another

40. India’s first Export Processing Zone

(EPZ) was set up at ......................in

........................

(A) Noida, 1975

(B) Kandla, 1965

(C) Kandla, 1975

(D) Santacruz, 1975

39.

(A)

(B)

(C)

(D)

40.

(A) 1975

(B) 1965

(C) 1975

(D) 1975
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41. The analysis of Heckscher and Ohlin

theory is based on ...................

(A) Absolute advantage on the

difference in factor endowments

among different nations

(B) Comparative advantage on the

difference in factor endowments

among different nations

(C) Absolute advantage on the

difference in labour endowments

among different nations

(D) Comparative advantage on the

difference in labour

endowments among different

nations

41.

(A)

(B)

(C)

(D)
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42. (1) This international institution

was set up in 1956.

(2) It is part of the World Bank

group of institutions.

(3) It gives loans and guarantees

to member countries.

The institution refers to above is :

(A) International Monetary Fund

(IMF)

(B) International Bank for

Reconstruction and

Development (IBRD)

(C) International Finance

Corporation

(D) International Development

Association

43. The amended FERA was passed in

............. and it was replaced by .......

in .................

(A) 1973, SEBI, 1998

(B) 1973, FEMA, 1999

(C) 1975, FEMA, 1999

(D) 1973, FEMA, 1990

42. (1)

1956

(2)

(3)

(A)

(B)

(C)

(D)

43. (FERA) 

(A) 1973, SEBI, 1998

(B) 1973, FEMA, 1999

(C) 1975, FEMA, 1999

(D) 1973, FEMA, 1990
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44. The prevention of Money

Laundering Act was passed in the

year ...........................

(A) 2001

(B) 2008

(C) 2002

(D) 2007

45. Identify the correct statement from

the following :

(A) Narrow money and broad

money are always the same

(B) Narrow money is greater than

broad money

(C) Narrow money is the same as

broad money, depending on the

policy of government

(D) Broad money is always greater

than narrow money

46. In the context of India, which is the

correct definition of M1 ?

(A) M1 = Currency + demand

deposits

(B) M1 = Currency + term

deposits

(C) M1 = Currency + demand

deposits + other deposits

(D) M1 = Currency + post office

savings deposits

44.

(A) 2001

(B) 2008

(C) 2002

(D) 2007

45.

(A)

(B)

(C)

(D)

46. M1

(A) M1 = + 

(B) M1 = + 

(C) M1 = + +

(D) M1 = + 
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47. Which of the following is not the

source of aggregate monetary

resource in India ?

(A) Net Bank Credit to Government

(B) Bank credit to the commercial

sector

(C) Net foreign exchange assets of

the banking sector

(D) Net public debt of the

government

48. In order to determine the external

value of rupee, India shifted from

fixed par value of rupee to a basket

of currencies, comprising .................

in 1975.

(A) Pound Sterling, American

dollar, Yen and German mark

(B) Pound Sterling, Euro, American

dollar, Yen

(C) Euro, Pound Sterling, German

mark, Yen

(D) Euro, Yen, American dollar,

German mark

47.

(A)

(B)

(C)

(D)

48.

1975

(A)

(B)

(C)

(D)
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49. Which of the following is a major

contributor to India’s Foreign

Exchange Reserves ?

(A) Gold

(B) SDRs

(C) Foreign Currency Assets

(D) ADRs

50. (i) All state co-op banks in India

are scheduled banks.

(ii) All scheduled banks are

nationalized banks.

What can you say about these

statements ?

(A) Both statement (i) and

statement (ii) are incorrect

(B) Statement (i) is incorrect and

statement (ii) is correct

(C) Statement (i) is correct and

statement (ii) is incorrect

(D) Both statement (i) and

statement (ii) are correct

49.

(A)

(B) SDRs

(C)

(D) ADRs

50. (i)

(ii)

(A) (i) (ii) 

(B) (i) (ii) 

(C) (i) (ii) 

(D) (i) (ii) 
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51. Which of the following items is

excluded from the concept of money

supply in India ?

(A) Coins of all denominations

(B) One rupee coins and notes

(C) Demand deposits in the

Commerical Banks

(D) Coins and currency notes held

by commercial banks

52. The government introduced Repo

rates and Reverse Repo rates in the

years ................... and ........................

respectively.

(A) 1991, 1997

(B) 2000, 2001

(C) 1992, 1996

(D) 1992, 1999

53. RBI constituted a committee on

Euller Capital Account Convertibility

in 2006, namely ...................................

(A) R. Gandhi Committee

(B) Second Tarapore Committee

(C) M. Narsinham Committee

(D) First Tarapore Committee

51.

(A)

(B)

(C)

(D)

52.

(A) 1991, 1997

(B) 2000, 2001

(C) 1992, 1996

(D) 1992, 1999

53. 2006 

(A)

(B)

(C)

(D)
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54. (i) NABARD was established in

1982 and it took over the

functions of Former Agricultural

Refinance Development

Corporation.

(ii) NABARD and National

Housing Bank (NHB) are

refinance institutions.

What can you say of these

statements ?

(A) Both statement (i) and

statement (ii) are incorrect

(B) Both statement (i) and

statement (ii) are correct

(C) Statement (i) is correct and

statement (ii) is incorrect

(D) Statement (i) is incorrect and

statement (ii) is correct

54. (i) 1982 

(ii) (NHB)

(A) (i) (ii) 

(B) (i) (ii) 

(C) (i) (ii) 

(D) (i) (ii) 
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55. Fiscal consolidation refers to

improving the quality and

effectiveness of ............................

(A) Public revenue

(B) Resource mobilization

(C) Public expenditure and

resource mobilization

(D) Direct taxes

56. Which one of the following is not an

example of transfer payment by the

government ?

(A) Salary of the President of India

(B) Pension

(C) Unemployment allowance

(D) Pension for workers in

unorganized sector

57. The ‘twin deficit’ problem means a

country having :

(A) High fiscal deficit and high

revenue deficit

(B) High fiscal deficit and high

governance deficit

(C) High fiscal deficit and high

primary deficit

(D) High fiscal deficit and high

current account deficit in the

balance of payments

55.

(A)

(B)

(C)

(D)

56.

(A)

(B)

(C)

(D)

57.

(A)

(B)

(C)

(D)
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58. The increase in civilian expenditure

share has been fueled largely

by............................

(A) Defence expenditure needs

(B) Rate of interest

(C) Primary deficit

(D) Social security and welfare

program

59. The Law of Rising Public

Expenditure was advanced by :

(A) Adam Smith

(B) Paul Samuelson

(C) Adolph Wagner

(D) Wiesman and Peacock

60. Government expenditure on

education and health is considered

as expenditure on .....................

(A) Non-merit goods

(B) Merit goods

(C) Club goods

(D) Rival goods

58.

(A)

(B)

(C)

(D)

59.

(A)

(B)

(C)

(D)

60.

(A)

(B)

(C)

(D)
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61. The expansionary effect of balanced

budget is called the ......................

(A) Balanced budget multiplier

(B) Investment multiplier

(C) Money multiplier

(D) Expenditure multiplier

62. Balanced budget multiplier is :

(A) The ratio of change in GDP to

change in government spending

matched by equal change in

taxes

(B) The ratio of change in

investment to change in

saving

(C) The ratio of exports to

imports

(D) The ratio of tax rate to tax

base

61.

(A)

(B)

(C)

(D)

62.

(A)

(B)

(C)

(D)
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63. An increase in government spending

has .................... effect on the

aggregate demand.

(A) an inflator

(B) a deflator

(C) an accelerator

(D) a multiplier

64. The size of increase in government

expenditure which leads to rise in

GDP is determined by which

technique ?

(A) Inflator

(B) Deflator

(C) The accelerator

(D) The multiplier

65. Incidence of a tax on wage income

may be affected by .....................

(A) Individual protest

(B) Inflation

(C) Collective bargaining

(D) Deflation

63.

(A)

(B)

(C)

(D)

64.

(A)

(B)

(C)

(D)

65.

(A)

(B)

(C)

(D)
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66. The Finance Commission in India

is appointed by the President of

India as per the provision of Article

.................. of the Constitution of India

and ..................... is the Chairman of

the 15th Finance Commission.

(A) 270, N. K. Singh

(B) 280, Y. V. Reddy

(C) 280, N. K. Singh

(D) 281, Y. V. Reddy

67. According to the Classical

Development Theorists, the key to

progress is ....................

(A) Labour

(B) Technology

(C) Laissez faire

(D) Capital accumulation

66.

15

(A) 270, 

(B) 280, 

(C) 280, 

(D) 281, 

67.

(A)

(B)

(C)

(D)
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68. (i) The term creative destruction

was introduced by Samuelson.

(ii) The term creative destruction

refers to improved quality

innovations that make old

technologies obselete.

What can you say about the above

statements ?

(A) Statement (i) is correct and (ii)

is incorrect

(B) Statement (i) is incorrect and (ii)

is correct

(C) Both statements (i) and (ii) are

incorrect

(D) Both statements (i) and (ii) are

correct

69. Which of the following indices that

the World Bank has developed is

related to sustainable development ?

(A) Inclusive Index

(B) Green Index

(C) Poverty Index

(D) Sustainability Index

68. (i)

(ii)

(A)

(B)

(C) (i) (ii) 

(D) (i) (ii) 

69.

(A)

(B)

(C)

(D)
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70. Calculating ..................... is more

straight forward than calculating the

HDI.

(A) Human Poverty Index

(B) Human Happiness Index

(C) Multi-Dimensional Poverty

Index

(D) Gender-Development Index

71. Which country among the BRICS

has the highest life expectancy as

per the 2016 data ?

(A) India

(B) Russia

(C) China

(D) Brazil

72. Which of the following is not a

criticism on Marxian theory of

development ?

(A) Static analysis

(B) Surplus value is unrealistic

(C) Marx could not understand

flexibility in capitalism

(D) Marx believed in government

intervention

70.

(A)

(B)

(C)

(D)

71. 2016 BRICS 

(A)

(B)

(C)

(D)

72.

(A)

(B)

(C)

(D)
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73. Applicability of Schumpeter’s theory

to underdeveloped countries is

limited because :

(A) It neglects savings

(B) It neglects development

(C) Large population of these

countries

(D) High illiteracy in these

countries

74. In Harrod’s model of growth, the

actual growth rate is ....................

(A) Actual income and consumption

level

(B) Actual amount of saving and

investment in the country

(C) Actual amount of public

borrowing

(D) Actual difference between

income and consumption

73.

(A)

(B)

(C)

(D)

74.

(A)

(B)

(C)

(D)
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75. Fei-Ranis theory of development is

considered as an improvement over

.................... theory.

(A) Lewis theory

(B) Solow’s model

(C) Joan Robinson’s model

(D) Harrod-Domar model

76. Meade’s growth model explains

relationship between :

(A) Income growth and inflation

(B) Income growth and capital

accumulation

(C) Income growth and rate of

interest

(D) Income growth and population

growth

75.

(A)

(B)

(C)

(D)

76.

(A)

(B)

(C)

(D)
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77. According to Leibenstein every

economy is under the influences of

two forces, namely :

(A) Savings and Investment

(B) Shocks and stimulants

(C) Agricultural development and

industrial development

(D) Income and investment growth

78. Nelson’s theory of development

assumes :

(A) Keynes’ theory of employment

(B) Marxian theory

(C) Malthusian theory of

population

(D) Say’s law of markets

77.

(A)

(B)

(C)

(D)

78.

(A)

(B)

(C)

(D)
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79. How does the environment

contribute to the circular flow of

income ?

(a) Providing consumer services of

various types to domestic

households

(b) Providing household services to

domestic firms

(c) Providing natural resource

inputs to domestic firms

(d) Acting as a repository for the

waste products of domestic firms

(A) (b), (c) and (d)

(B) (a), (c) and (d)

(C) (a), (c) and (b)

(D) (a), (b) and (d)

79.

(a)

(b)

(c)

(d)

(A) (b), (c)  (d)

(B) (a), (c)  (d)

(C) (a), (c)  (b)

(D) (a), (b)  (d)
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80. The optimum level of economic

activity and associated pollution

from society’s point of view occurs

where :

(A) Marginal Social Benefit <

Marginal Social Cost

(B) Marginal Social Benefit = 0

(C) Marginal Social Benefit =

Marginal Social Cost

(D) Marginal Social Benefit >

Marginal Social Cost

81. (i) Malthus supported population

control to ensure balance

between population and

availability of food grains.

(ii) He advocated ‘‘unethical’’

means to control population.

What can you say about the above

statements ?

(A) Stetement (i) is correct but (ii)

is incorrect

(B) Statement (i) is incorrect but (ii)

is correct

(C) Both (i) and (ii) are correct

(D) Both (i) and (ii) are incorrect

80.

(A) < 

(B) = 0

(C) = 

(D) > 

81. (i)

(ii)

(A) (i) (ii)

(B) (i) (ii)

(C) (i) (ii) 

(D) (i) (ii) 
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82. As per the census 2011, arrange the

birth-rates of the following states in

India from the highest to lowest

order :

(A) Bihar, U.P., Rajasthan,

Karnataka

(B) U.P., Rajasthan, Bihar,

Karnataka

(C) U.P., Bihar, Karnataka,

Rajasthan

(D) U.P., Bihar, Rajasthan,

Karnataka

83. The name given to a tax which

makes the firm pay for all the

pollution damage it creates with

each extra unit of output is :

(A) Pigouvian

(B) Tradable permits

(C) Coase Theorem

(D) First Law of Thermodynamics

82. 2011

(A)

(B)

(C)

(D)

83.

(A)

(B)

(C)

(D)
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84. What refers to the trapping of heat

between the earth’s surface and

gases in the atmosphere, especially

carbon dioxide ?

(A) Greenhouse effect

(B) Multiplier effect

(C) Atmosphere effect

(D) Demonstration effect

85. In which year was the Department

of Family Planning at the centre set

up ?

(A) 1965

(B) 1966

(C) 1977

(D) 1975

86. Name the Union territory having

the highest density of population

from the given below :

(A) Chandigarh

(B) Delhi

(C) Puduchcheri

(D) Daman and Diu

84.

(A)

(B)

(C)

(D)

85.

(A) 1965

(B) 1966

(C) 1977

(D) 1975

86.

(A)

(B)

(C)

(D)
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87. Which item from the list below is a

positive externality ?

(A) Public immunization

(B) Traffic Jam

(C) A neighbour’s barking dog

(D) Pollution

88. What is market failure ?

(A) Something prevents the market

to allocate resources efficiently

(B) Both consumers’ and

producers’ surplus are

maximised

(C) Free market of individuals

acting in their ownself interest

leads to a socially desirable

results

(D) There exists no consumers’

surplus

87.

(A)

(B)

(C)

(D)

88.

(A)

(B)

(C)

(D)
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89. According to Central Statistical

Organisation the growth rate

achieved by agriculture, industrial

and service sector during financial

year 2017-18 stood at .................,

....................... and .................

percentage respectively.

(A) 2.1, 4.4, 8.3

(B) 4.9, 5.6, 7.7

(C) 0.7, 8.8, 9.7

(D) – 0.2, 7.5, 9.7

90. Match the following :

Year/Census Child Sex

Ratio in India

(a) 1981 (i) 914

(b) 1991 (ii) 927

(c) 2001 (iii) 945

(d) 2011 (iv) 962

Codes :

(a) (b) (c) (d)

(A) (iii) (iv) (i) (ii)

(B) (iv) (iii) (ii) (i)

(C) (iv) (ii) (iii) (i)

(D) (i) (ii) (iii) (iv)

89. 2017-18

(A) 2.1, 4.4, 8.3

(B) 4.9, 5.6, 7.7

(C) 0.7, 8.8, 9.7

(D) – 0.2, 7.5, 9.7

90.

(a) 1981 (i) 914

(b) 1991 (ii) 927

(c) 2001 (iii) 945

(d) 2011 (iv) 962

(a) (b) (c) (d)

(A) (iii) (iv) (i) (ii)

(B) (iv) (iii) (ii) (i)

(C) (iv) (ii) (iii) (i)

(D) (i) (ii) (iii) (iv)



42

SEP - 11221/II—A

91. According to the 10th Agricultural

Census (2018), the average size of

operational holdings in India is .........

hectare in 2015-16.

(A) 1.15

(B) 1.08

(C) 1.23

(D) 1.33

92. Swachha Bharat cess has been

enforced from ................ at the rate

........................ in India.

(A) November 2015, 0.5 percentage

(B) December 2015, 0.05 percentage

(C) January 2016, 0.1 percentage

(D) August 2015, 0.01 percentage

91. (2018) 

2015-16 

(A) 1.15

(B) 1.08

(C) 1.23

(D) 1.33

92.

(A) 2015, 0.5 

(B) 2015, 0.05 

(C) 2016, 0.1 

(D) 2015, 0.01 
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93. Which of the following is portrayed

in the population pyramid of a

country ?

(A) Rural-urban distribution of

population

(B) Young-old distribution of

population

(C) Age and sex distribution of

population

(D) Gender distribution of

population

94. Pradhan Mantri Sahaj Bijli Har

Ghar Yojana (Saubhagya) Scheme

was launched by the ........................

as on .................................... .

(A) State Minister, 5th September,

2017

(B) Finance Minister, 25th

September, 2017

(C) Prime Minister, 25th September

2017

(D) President of India, 05th

September, 2017

93.

(A)

(B)

(C)

(D)

94.

(A) 5 2017

(B) 25 2017

(C) 25 2017

(D) 5 2017
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95. Arrange the following Indian

Financial Sector regulators in

chronological order of formation :

(i) Securities and Exchange Board

of India (SEBI)

(ii) Insurance Regulatory and

Development Authority of India

(IRDAI)

(iii) Pension Fund Regulatory and

Development Authority

(PFRDA)

(iv) Forward Markets Commission

(FMC)

Codes :

(A) (i), (ii), (iii), (iv)

(B) (iv), (i), (ii), (iii)

(C) (i), (iii), (iv), (ii)

(D) (iv), (iii), (ii), (i)

95.

(i) (SEBI)

(ii)

(IRDAI)

(iii)

(PFRDA)

(iv) (FMC)

(A) (i), (ii), (iii), (iv)

(B) (iv), (i), (ii), (iii)

(C) (i), (iii), (iv), (ii)

(D) (iv), (iii), (ii), (i)
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96.

(A)

(B)

(C)

(D)

97.

(A) SAIL

(B) BSNL

(C) ONGC

(D) BHEL

96. The minimum support price for

agricultural products is

recommended by which of the

following ?

(A) Cabinet Committee on

Economic Affairs

(B) Commission for Agricultural

Costs and Prices

(C) Agricultural Produce Market

Committee

(D) Directorate of Marketing and

Inspection

97. Which one of the following is not a

‘Maharatna’ status company ?

(A) SAIL

(B) BSNL

(C) ONGC

(D) BHEL
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98. National Rural Health Mission

(NRHM) was launched on ..............

in India.

(A) 2nd October, 2005

(B) 12th April, 2005

(C) 15th August, 2005

(D) 1st April, 2005

99. While recommending horizontal

distribution, which of the following

criteria got the least weightage by

the 14th Finance Commission ?

(A) Tax collection

(B) Area

(C) Population

(D) Income distance

98.

(NRHM) 

(A) 2 2005

(B) 12  2005

(C) 15  2005

(D) 1 2005

99.

(A)

(B)

(C)

(D)
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100. Match the following :

State

(a) Andhra Pradesh

(b) Karnataka

(c) Gujarat

(d) Maharashtra

Urban Population (2011)

(i) 45.20 percentage

(ii) 42.60 percentage

(iii) 38.60 percentage

(iv) 33.50 percentage

Codes :

(a) (b) (c) (d)

(A) (iv) (ii) (i) (iii)

(B) (iv) (iii) (ii) (i)

(C) (iv) (i) (iii) (ii)

(D) (i) (ii) (iii) (iv)

100.

(a)

(b)

(c)

(d)

(2011)

(i) 45.20 

(ii) 42.60 

(iii) 38.60 

(iv) 33.50 

 :

(a) (b) (c) (d)

(A) (iv) (ii) (i) (iii)

(B) (iv) (iii) (ii) (i)

(C) (iv) (i) (iii) (ii)

(D) (i) (ii) (iii) (iv)
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ROUGH WORK


